(i) First Part : SCIENCE
(a) PHYSICS

Infinite number of masses, each of mass
m, are placed along a straight line at
distance of r, 2r, 4r, 8r etc. from a
reference point O. The gravitational field

intensity at point O will be :

" 5Gm
(A 2
B 4 Gm
®) 3.2
c 3Gm
© 5.2
. 2Gm
Oy 2

The figure shows some of the electric field
lines corresponding to an electric field.

The fig. suggests :

e
D

EA;’\*EB

(A) Ep=Eg

(B) En<FEy
(C) Ep>Ep

(D) nothing to be said

(i) were T : fe
( 31) Hifass s

e % fiel i e e fed fdais
WO@WW%@T’?'@LZLM@&
Tefe W from §1 fog O W e &9
frerem B

(A) 42
s 4 Gm
®) 3.2
3Gm
© 52
2Gm
(D) 5

for 3 Fore & 3 e foeE W @
weflfa =1 Tt ¥ fas weRia s §

)
By >
(A) Ep=Eg
(B) E,<Eg
(C) E,>Fg

(D) S HE L ST HHAl
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If an object is placed 10 cm infront of a
concave mirror of focal length 20 cm, the
image will be :

(A) Diminished, upright, virtual
(B) Enlarged, upright, virtual
(C) Diminished, inverted, real

(D) Enlarged, upright, real

Work done by a simple pendulum in one

complete oscillation is :

(A) Zero
(B) (mg
C v sin —g—

1 |L

D) 27y

A divergent lens will produce :
(A) Always a virtual image
(B) Always a real image

(C) Sometimes real and sometimes
virtual

(D) None of the above

20 ¥t RIFE gl AT STEde 9O F W
T o 10 Ut BT g W T B, S e
yfafer= g

(A) B, div, Heatis
(B) &I, Hie, FHeqh
(C) B, I, AATTH
(D) =g, HiHn, arfoeh

Tl wet Sieren o 510 T U1 Qe | foRa
T FH

(A) A
(B) mg

(C) v sin 2
2

1 |L

@) 2m\g

TH STTHR A AT E

(A) H Hea gidfers

(B) H<1 Arifereh Ffaferes]

(C) w4t arsafaes g ot et ghafar

(D) S | wig el
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Heat is flowing through a conductor of
length L from x=0to x=L. Ifits thermal
resistance per unit length is uniform,
which of the following graph is correct ?

@

© T

0 X
(D) T[

0 X

To induce an emf in a coil, the linking

magnetic flux :

(A) must decrease

(B) can either increase or decrease
(C) must remain constant

(D) must increase

=0 x=L 7% L T & foret s |
o1 yaTfed B W &1 ARk vi i e
suitg gRhY e B e 8 wh W
AAG G &7 s ]

(B)

0b—x
© M
0 —> X

(D) TTL

foet Freeht A Ifa faan W S A &
%Emg@aﬁam:

(A) ¥ B T

(B) SET ¥ A Sl IR

() Traa & w e

(D) ST & B IR
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I{Ewsmaﬁiﬁ5ﬁwﬁm?ﬂ?ﬁ%

8. A car covers adistance of 5km in 5 mins, - §.
its average speed is equal to : Sqht STEd =T B
(A) 1km/h (A) 1 Tt/ =
(B)—25 km/h By 25 TerHi/=me
(C) 60 km/h (C) 60 Tt/ =ruar
(D) None of the above (D) SR ¥ | HIE 7ol
9. At the magnetic poles of the earth, a 9. Yool & bl Yo W FHHH T3 =t feafa
compass needle will be : ’@Tﬁ
(A) Vertical (A) Tl
(B) Bent slightly (B) oS ©f g
(C) Horizontal (©) afas
(D) Inclined at 45° with the horizontal (D) &fast 9 45° T gl 63
10. Unitof magnetm flux density (or magnetu 10. TR FIRT T (AT IO EHRE) hi
induction) is : 'a'?l’é 2
(A) Tesla (A ) THeT
(B) Weber/metre? (B) dex/wiew?
(C) Newton/amp-metre (C) A/ THRR-HieX
(D) All of above (D) ST wHt
11. A convex mirror has a focal length 20 cm. 11. T Iq YW i RiwH T 20 §H ? TR
A real object is placed at a distance SR %] I I F WA We § 20 §E
20 cm infront of it from the pole produces I g IR T S @ a1 feafa et
an image at :
(A) Infinity (A) ST R
(B) 20 cm (B) 20 ®Ht ™
(C) 10 cm (C) 1099 W
(D) 40 cm (D) 40§+ W
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12,

13.

14.

15.

‘Masses of three wires of copper are inthe  :12.

ratio of 1 : 3 : 5 and their lengths are in
the ratio of 5 : 3 : 1. The ratio of their

electric resistances are :
(A) 1:3:5

(B) 5:3:1

(€C) 1:15:125

(D) 125:15:1

Which of the following is the mostsuitable 13.

material for making permanent magnet?
(A) Steel

(B) Soft iron

(C) Copper

(D) Nickel

The amplitude of the vibrating particle 14.

due to superposition of two simple
harmonic motions of y; = sin(wt+m/3)
and y,=sin(wt) is :

(A) 1

B 2

© 3

(D) 2

Magnetic lines of force : 15.

(A) Always intersect.
(B) Are always closed.

(C) Tend to crowd far away from the
poles of magnet.

(D) Do not pass through vacuum.

(C) HW

FHIC % 49 TRI & Fea9H 1 A 1:3:5
2 9 ! wETEAl H UM 5:3:1 %)
7o e eyl o1 ST B

(A) 1:3:5
(B) 5:3:1
(C) 1:15:125
(D) 125:15:1

fr § Q@ S el e 9 8 w9
g T § 2

(A) w

(B) T

~

(D) e

q wA S e yi=sin(mt+w/3)_ e
1/, = sin(wt) % STEARTIOT 5 HROT FE FHA
T T STAT BRI ¢

TR T T

(A) T HEH B

(B) v R ot ¥

(C) Treh & Yo ¥ A Bl 2

(D) et & o & et &1

SPACE FOR ROUGH WORK / 1% wTd & o S17e.

9201/ UE-PT /PP-M 7

Set -'A



16. The v - t graph representing uniform 16.

velocity :

THYHM 97 K FH A 0 -tTH T

(A Yy oy - — -
* { / 0
[ (4
Z i X L 5 X
t— t—
® Y4 ® Y
T HF——=
[ v
— X — X
t— t—
(©) ©
)
v
X
t—
(D) Y (D) Ya
t /\ t
v v
vy X X
t— t—
17. The minimum distance between theobject ~ 17. 3fadel gdw & folu o ©d 39 arIfaeh
and its real image for concave mirror is : yfafars & =19 &t Rk ‘c{\ﬁ B
A f (A f
(B) 2f (B) 2f
© 4 (C) 4f
(D) zero (D) XA
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18.

19.

20.

21.

A particle moves in X-Y plane according
to equations

x=4t2+5t+16, y=5t

The acceleration of the particle must be :
(A) 8 m/sec?

(B) 13 m/sec?

(C) 14 m/sec?

(D) None of the above

A body of mass m kg is lifted by a man to
a height of one metre in 30 sec. Another
man lifts the same mass to the same height
in 60 sec. The work done by them is in
the ratio :

(A) 1:

e S N Y
N

g

= N
[ O )

A sound source is moving towards a
stationary listener with 1/10% of the
speed of sound. The ratio of apparent to
real frequency is :

(A) 10/9

(B) (10/9)?

(©) (11/10)?

(D) (11/10)

In which of the following processes P, V
and T, all change ?

(A) Isochoric Process

(B). Isothermal Process

(C) Isobaric Process

(D) Adiabatic Process

18.

19.

20.

21.

T HO XY T H e el SER
FHI T

x=4t>+5t+16, y=>5t

3; VT 1 LI BT

(A) 8 T/ HHue?

(B) 13 Hiey/HHvE2

(C) 14 Hex/dHve?

(D) T 9§ &S T

m Tl geomr &1 U fuve s =t gl
T Hiet S e 30 YRS H IS S |
TR =R gRI WA GoquH §OH e %
60 TFTE H IS S &1 SAF 5 R T
S 1 ST BT :
(A) 1:2
B) 1:1
1
1

< 2:
(D) 4:

e i i e fen g & SR @ %
AT & 1/10 T I W T W T T Al
Srferers ergiaal & sfie ST B

(A) 10/9
(B) (10/9)
(€) (11/10)°
(D) (11/10)

T ¥ o gfwar § P, v o T 9+t aftafda
B SR ?

(A) HHSTEAHS GisHan

(B) HHaTdr Gfshan

(C) HHHEITE Hishar

(D) TSISH gkl
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22.

23.

For normal eye, the least distance of  22.

distinct vision is :
(A) 025 m

(B) 050 m

(€C) 25m

(

D) infinite

When the light wave goes from air into 23.

glass, the physical quantity that remains

unchanged is its :

e siE % e v g = g
R

(A) 0.25 HiX
(B) 050 Hex
(C) 25 HiX
(D) ¥Fq

S WeRIY a0 A1 § i H 98w w & @
HH-H e i sTaftafia wdt 87

(A) speed (A) =
(B) amplitude (B) smam™
(C) frequency (C) 3t
(D) wavelength (D) T
24. X-rays are in nature similar to : 24, X-Toxor =) yepfa forad wmm St %72
(A) Beta rays (A) St fee
(B) Gamma rays (B) I ol
(C) de-Broglie waves (C) SI-3met aan
(D) Cathod rays (D) elrg ool
25. The correct relation is : 25. WE UEY ®
() B= () B=g
(B) B=V.H (B) B=V.H
© [Bl=1V2 + H? ©  1BI=V? + H?
(D) B=V+H (D) B=V+H
SPACE FOR ROUGH WORK / 1% @19 & o/ g
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26. A point mass m is located at x =0, which
one of the following graphs represents the
variation of gravitational intensity (I) with

the distance (x)-from the mass 2 ——

1

(A) t
0 x
I A

() K
0 X
0 >
1

) K
o-——x

27. The magnetism of magnet is due to :
(A) The spin motion of electron
(B) Earth
(C) Cosmic rays

(D) None of above

26.

27.

T foig gom ™ m, x=0 R feem &1 F= A
2 T1 ST T | gl (x) e e
<ot (1) 1 A SR O ?

I A
(A)

— X

Il_L*

0 x
I

: k
-

<rare ¥ Srerehel B € :

(A) ToraRTT % R TR % R

X

(B) Y % HNW
(C) it faRzul & AT
(D) St H g
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34.

35.

In the arrangement shown, in the figure,
the mass of blocks A and B are 2 kg and
1 kg respectively. The acceleration of
block A inm/s? will be T

(D) 2g/5

Focal length of a plane mirror is :

(A) zero

(B) infinite

(C) veryless

(D) none of above

34.

35.

o= 4 weltfa sroren & orqam At wite
A T B 1 S99 ShH9”: 2 el v 1 forelt
&, WA R e/ Fehve? § g

(A) g/3
(B) 2g/3
€ g/5

(D) 2g/5

(€) wgd w4

(D) SR | FIE 8t
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36. The correct graph between the frequency 36. fodl ogfd n e AR ¥ A F (p) A
n and square root of density (p) of a wire ¥ o wE e q, 4| R 355[ 'Q—fr:a-rg
keeping its length, radius and tension = BRIKEIE ﬁrqa %

~ constant is :

(a) ™

=

® 1 (®)
=== ‘

& &
I ° I
. oo
N Jp

® o " ,
b —

SPACE FOR ROUGH WORK / Y% % fed s

9201/ UE-PT/PP-M 15 ' Set - A




37.  The effective resistance between the points 37. URU" d A 9B Ter gy gfady 8
A and B in the figure is :

- L
30 /\’7 30 SQ\\Q‘/\Z 30
G\ 1 o 7’%7
- C

L
30 30 304 Y30

B B
(A) 50 (A) 50
B) 20 (B) 20
© 30 ) 30
(D) 40 (D) 490

38. If300 ml of a gas at 27°C is cooled to 7°C 38. 9f€ 300 ml 9 799 <@ W 27°C |/ 7°C o
at constant pressure, then its final volume Ut Bl ®, O ST AT ST B ¢
will be :
(A) 540 ml (A) 540 ml
(B) 350 ml (B) 350 ml
(C) 280 ml (C) 280 ml
(D) 135 ml (D) 135 ml
39.  In figure the potential difference between 39, WRUY & A 9 B % weny fawfaR (V, ~ V)
A and B (V, ~ V) will be : B :
A A
20 4,30 20 /\7773 Q
2A X 2A -
D c : D c
3074, 20 3 sz\/xﬁ‘; )
B B

(A) +2V (A) +2V
B) +1V B) +1V
) -1V C -1V
D) -2V (D) -2V
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40.

41.

42.

43.

A transformer is based on the principle

of :

(A)—Mutual inductance
(B) Self inductance
(C) Ampere’s law

(D) Lenz's law

The displacement of a particle in string
stretched in X direction is represented by
Y. Among the following expressions for

Y, those describing wave motions are :
(A) coskx sinwt

(B) k22— w2t

(C) cos(kx +wt)

(D)  cos(k?x®— w?t?)

If the temperature of a hot body is
increased by 50% the amount of radiation
emitted by it would become nearly :

(A) 50%
(B) 225%
(C) 250%
(D) 500%

The resistivity of a wire depends on its :
(A) on length

(B) on area of cross-section

(C) on shape

(D) on material

40. giwﬁiﬁrmﬁﬁmfammmm

41.

42,

43.

77

(A) 3T I
(B) ¥ W
(C) THHRR
(D) <t = Fam

forelt X feom o <t g i H <01 o o
oz Y g1 e Twer s o fra 6 9
=\ T S Y 3, T T W R T ?

(A) coskx sinwt

(B) k22—

(C) cos(kx + wt)

(D) cos(k®x?—w’t?)

afz fedt 7 fave %1 @g 50% w1 T
ST A SER Scatsta fafemtor =6l A/ T
Bl ?

(A) 50%

(B) 225%

(C) 250%

(D) 500%

farelt R Y whrersar et R
(A) TG W

(B) STIRY FE H FARA W
(C) STHR W

(D) TRE W
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44. Which of the following gas has the  44. 7=+ 9 Fg g%} sifuwran i =rerwa
greatest thermal conductivity ? BT ?
(A) Air (A)—T
(B) Neon (B) T
(C) Hydrogen (C) =wETSH
(D) Oxygen (D) Sferdtsm
45. Relation between critical angles of water 45. 9t C)= EoC (Cg) % il v & st
(C,) and glass (Cg) is : qEYg ¥
(A) C,> G, (A) C,>¢C,
B) Cu<C (B) C,< C,
© Cw=C, (@) Cw=C,
(D) Cu=GC;=0 (D) Cy=Cy=0
46. When sound anes ‘travel from air to 46. IR ww w@fq a1 aY o T H T ) 2
water, which of the following remains A e 3 9 i e g ?
constant ?
(A) Velocity (A) 3
(B) Frequency B) s
(C) Wavelength ©) o
(D) All the above (D) v woft
47. Joule X sec. is the unit of ; 47. me T B
(A) Momentum (A) |3 @
(B) Energy (B) el @
(C) Angular Velocity (C) i A7
(D) Planck Constant (D) wF% fradiw 1
SPACE FOR ROUGH WORK / T% &1 & ford smrg
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55.

56.

57.

58.

An alkane M.wt. 72, gave one mono
chlorination product. What is structure

of compound ?
(A) Neopentane
(B) n-Pentane
(C) iso-Pentane

(D) n-Hexane

In nuclear reactor the velocity of neutron

reduced by :

(A) Cadmium rod

(B) Heavy water, BeO and Graphite
(C) Water

(D) Boron and Cadmium Steel

In atmosphere max. amount present of

Rare gas is :
(A) Argon
(B) Xenon
(C) Radon
(D) Kripton

Which of the following has largest
number of particles ?

(A) 8gCH,

(B) 44 g CO,

(C) 342 g CpHyOp
(D) 2gH,

55.

56.

57.

58.

Ao TR 72, AT & fah T
FAT e ATk S B 1 AR Rl LI
EE

(A) Frm=A
(B) n-U=A
(C) SIEH-4=A
(D) n-SFE

i fdees § = & 9T w6
e

(A) wefem o3

(B) Wit 5id, BeO Udl UhIEe

(C)

(D) SR T FSHEH T

SrgvEe § s e H Suften TR AW
L

(A) S
(B) ST
© =M
(D) o=t

frafafga § @ frad woil w den wod
aferes ®72

(A) 87 CH,

(B) 4.4 7. CO,

(C) 342 . CypH,0q

(D) 27 H,
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59. Which metal does not form hydrogen gas 59.

with aq. NaOH solution ?

NaOH & ietg foeras st frar 9 &1 @
U BISSISE 19 8 It 2

(A) Al (A) Al
(B) Sn (B) Sn
(C) Ni (C©) Ni
(D) Si (D) Si
60. In Biogas mixture max. % of gas present 60, SENE fagu U rtE % Ry 9 % San
is : 8?2
(A) Carbon dioxide (A) wEA TESTFES
(B) Butane and iso-butane (B) 43T TH STGHI-A
(C) Hydrogen Sulphide (C) TESISH TTFES
(D) Methane (D) THem
61. The statements are correct : 61. F=woTEE e :
(@) Calcium Carbide gives C,H, gas (a) Ffewam Feise 9t € frames C,H,
when react with H,0O 9 < 7
(b)  CHCI, react with HF at high temp. (b) FARIGH I HF & WY srcaferes m
gives Teflon T W IGAT T S
(c) Acetylene gas gives Acetone when (©) Tetfes= 9 w1 10% H,50, i
passes into 10% H,SO, and 1% HgSO, % faera™ ¥ yenfew e
1% HgSO, solution q THER T )
(d) CCl, gives Freon-12 when react (d) CCl,=! HF ¥ fifan o W wiai-12
with HF Ml
(A) @ ©) © (4) @), b ©
(B (a), (b), (d) (B) (@), (b), (d)
€ @) @ (©) @) (o) (d)
(D) (), (), (d) (D) (b), (), (@)
SPACE FOR ROUGH WORK / 3% &/ & fod wvg
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62.

63.

64.

65.

66.

-The pH value of 10 ~8 M HCl solution is :

(A) 8
B) 6

Which of the following non-metal is a
liquid ?

(A) Carbon

(B) Bromine
©)

(D)

Phosphorus
Sulphur

Mixture of compound gives nitrogen gas
on heating is :

(A) NH,Cl, NaNO,

(B)  (NH,),S0, KNO,

(€©) NH,CI, KC1
(

(D) NH,CI, MnO,

Which one is not an alloy of copper ?
Bronze

B) German Silver

-Monel Metal

D) Type Metal

Which represents the correct formula of
aluminum oxide ?

(A) AlIO

B) ALO,

AlO,

62,

63.

64.

65.

66.

10~8 M HCl faeras =1 pH AF
(A) 8

(B) 6

(C) 6.96
(D) 7.04

foreiforlan § § SFET ST WA B9 H B
X

o difier & fago 1 T FE F TR
e g et ® 2

(A) NH,Cl, NaNO,

(B)  (NHy),50, KNO;

(C) NH,C, KCl

(D) NH,Cl, MnO,

et o w Hi ot e e § 2
(A)

(B) A fawer

(C) i A

(D) <Y =g

T AfeTes & faT Wt §3 &
gt A % § 2
(A) AIO
B) AL,
) AlO,

(
(C
(D) AlO,

D) AlO,
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67. Which of the following have equal 67. Frefatea & 9 fras fau =g T e
number of neutrons and protons ? H HA TG © ?
(A) Hydrogen (A) TESISH
(B)—Deuterium = (B) wgead -
(C) Fluorine () wEeNE
(D)  Chlorine (D) FRA
68. The group interacting and inter breeding 68, U B TSid & el T 9= TR & woem
organism of the same species is called : FH AT YT H L WA
(A) Community (A) EERH
(B) Organism (B) ftar
(C) Population (C) SHEET
(D) Ecosystem (D) wrifefaent o
69.  Which property of colioids is applied in 69, wiieey e &1 ST W Y5 @ wQ@A
rubber plating and sewage disposal ? 3R gereTe foreemeor # AN Bt 82
(A) Coagulation (A) ThaA
(B) Brownian Movement (B) R iy
(C) Tyndal Effect € fiza gum
(D) Electrophoresis (D) SgahoT T
70.  Which variety of coal containing  70. f&® ®ee &% T3 o srcafus % wEA T 7
max. % of Carbon ?
(A) Peat (A) d
(B) Lignite (B) fomrge
(C) Anthracite (C) WUrmEe
(D) Bituminous (D) fagHE
71. Which bond has the greatest ionic 71. &g §9 9 wo¥ s9rT s e et § 2
character ?
(A) H-F (A) H-F
(B) H-Cl (B) H-Cl
(©) H-O (©) H-0
(D) H-N (D) H-N
SPACE FOR ROUGH WORK / T &8 o e Svg
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72.

73.

74.

75.

- In India local people are not allowed to 70.

collect and use the biomass in which

categories of protected areas ?
(A) Bios?ﬂere Reserves

(B) Wetland declared under Ramsar

Convention
(C) National Parks
(D) Wildlife Sanctuaries

Which of the following element has 73.

highest first ionisation energy ?
(A) Boron (B)

(B) Carbon (C)

(C) Nitrogen (N)

(D) Oxygen (O)

Identify the reducing agent in given 74.

chemical equation :

3MnO, + 4Al = 3Mn + ALO,
(A) MnO,

(B) Al
(€) Mn
(D) ALO;,

What
sodium chloride have ?

(A) Metallic
(B) Ionic
(C) Covalent

types of

(D) Polar covalent

bonding does 75.

e H T @l R e wifia e
STor H Qo ST gt R ST ST
FT I STA T €2
(A) STERERRR R
(B) THER wifuwrrd % qed st sy

(C) T Su™
(D) SSiel SHWARTT

Freforfieon ol ° § foeas faw gum s
ST, SeaY © 7

(A) I (B)

(B) A (C)

(C) EENH (N)

(D) RIS (O)

o T Tt ifafEa ¥ s @
A T

3MnO, + 4Al - 3Mn + ALO,

(A) MnO,

B) Al

(C) Mn
(D) ALO,

Hifeay Feiee § fg goR =1 5y e e ?
(A) wifcr
(B) sl
(OB ESRIEED

(D) Y& FeHASH
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76. A sample of an oxide of nitrogen is found 76. IS F SRS & TH T H 304%
to contain 30.4% nitrogen. What will be 2o Sufkerd § df 39 VT G
its empirical formula ? B ?

(A) NO, (A) NO,
(B) N,O (B) N,O
(©) NO (©) NO

(D) N0, (D) N0,

77. Water gas is a mixture of : 77. A TR freen wew fager 2
(A) H, + O, (A) H, + O,
® N;+0, (B) N + O,

(© N+ NH, (€) Ny + NH,
(D) CO + H, (D) CO + H,

78. In the given equation 78. & & erfufsrar §

NaOH + HNO, — NaNO, + H,0 NaOH + HNO, — NaNO, + H,0
Nitric acid is acting as : TELeh ST 1 Ll §

(A) Acid (A) o

(B) Oxidising agent (B)  3ffeiTRR®

(C) A nitrating agent (C) I FHRE

(D) A dehydrating agent (D) Freielieo wReE

79. The formula of soda ash is : 79. WEITA R AT

(A) Na,CO, (A) Na,CO,
(B) Na,CO,10H,0 (B) Na,CO,10H,0
(C) NH,HCO, (C) NH,HCO,
(D) NaHCO, (D) NaHCO,
SPACE FOR ROUGH WORK / T% & & ferdl wrmg
Set - A 9201/ UE-PT/PP-M




80.

81.

82.

83.

In an ecosystem a pyramid of numbers

represents :

(A) Always a large number of top
consumers and fewer producers.

(B) An equal number of producers and
consumers.

(C) Always a
producers at the bottom and fewer

large number of

consumers at the top.

(D) More consumers at the top than

primary CONSumers.

Statement is incorrect regarding causes
of air pollution :

(A) Volcano gas

(B) Waste gases of nuclear reactor

(C) Freon - 12

(D) Acidic rain

One carat of diamond is equal to :
(A) 200 mg

(B) 200g

(C) 100 mg

(D) 100 g

The mass of a molecule of water is :
(A) 2.98x 1026 kg
(B) 298X 102 kg
(C) 1.80x 1020 kg
(D) 1.62X 10-2 kg

" 80.

81.

82.

83.

mmﬁﬁwﬁﬁﬁﬁa@ﬁw@hﬁ@

ey & fw -

(A) i ¥ susieRme it FH S

(B) e it Syl w Wer
A T |

(©) THM AR F S IR B TF T
T S Y O H SUHIEHT |

(D) wreifire SusiienEt i qerT | Y W
e SUHRTT € |

ww%m%mﬁquaﬁ
2

(A) ST

(B) i fdeey ) sTafvre T

(@) uﬁ—qﬁ-lz

(D) st =

£t w1 T e TR % SeR B 2
(A) 200 fam.

(B) 200 7.

(C) 100 fam

(D) 100 7T,

T % U 319] ST SoATI BN €
(A) 2.98x107% fe.m.
(B) 298x10~% FH
(C) 1.80x10~% f&.m.
(D) 1.62x10~% T,

SPACE FOR ROUGH WORK / ¥ &4 & fod e
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84.

85.

86.

87.

In Bohr’s model of the atom, the energy 84.

level closest to the nucleus would be the :
(A) Valence energy level

(B) — Lowestenergy level

(C) Highest energy level

(D) Average energy level

Which
Electromagnetic separation ?
(A) Wolfram

(B) Ratile

(C) Calamine

(D) Dolomite

ore 1is

Which statement is correct for saturated 86.

Hydrocarbon ?

(A) Gives red colour with HCHO and
Conc. H,50,

(B) De-colourization of yellow colour
with Bromine water

(C) No yellow colour of Bromine
change

(D) De-colourization of violet colour of
alkaline KMnO,

The process by which radiative energy 87.

leaving a planetary surface is absorbed by
some atmospheric gases :

(A) Eutrophication
(B) Carbon Cycle

(€©) Water Cycle

(D) Greenhouse Effect

concentrated by 85.

A & W] Hisd H AE F Frpeay
el W = R
(A) HIRHA F &R
(B) =g o= 'R
(C) =M Fell =i
(D) STEa Sl &R

& W wig farm g
fafy 9 =@ T

(A) T
(B) ®=A
(C) SHarmTe
(D) SiHREeS

HIW TESFET & oy f=1 1 o1 oA

wE T ?

(A) HCHO Ud §ig H,S0, % |19 o T
AT

(B) S Siet % e Wen 31 T & S
gl

(C) S =1 dien @1 H wiE qftedq T
Bl

(D) &™ KMnO, 1 7T 1 3 < §1

o gisean fes g foret 75 =t wag @t
Bl At fafeor i w1 $5 IgHsE
it gy starvifya ferar s @, R

(A)  gaww

(B) MR wH

(C) e

(D) IiTesH yuE

SPACE FOR ROUGH WORK / % &Td & ferd wmrg
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88.

89.

90.

91.

The chemical compound which is 88.

generally used as fire extinguisher :
(A) NaOH

(B) NaHCO,

(©) Na,CO,

(D) NH,HCO;,

The example of Non-Biodegradable 89.

pollutants :
(A) Wood
(B) Paper
(C) Herbal Waste
(D) Plastic Boxes

The % of CO, gas increase causing 90.

increase in temperature of atmosphere

due to :

(A) Acid Rain

(B) Nitrogen Cycle
(C) CFC and Areosols
(D) Greenhouse Effect

Which reaction is a Nuclear Fusion ? 91.

A) x+%e - A

(B) 283U+(1)n - 1?28&14— ggKr+3én+
Energy

© SN+In- Yc+H

(D) %H+%H — ;He+Energy

Tt Afe S8 gmr: afhmas %
9§ 39ANT feran ST ©

(A) NaOH

(B) NaHCO,
(C) Na,CO,
(D) NH,HCO,

3T Freientor gk T 3SR ©

(A) THED

(B) UM

(C) wie R
(D) Tt fessl

CO, 9 1 % TG AFHIST AIHA hl
ST & TSR HRU R

(A) T T

(B) SIS Wk

(C) WUk T e

(D) TERY gy

FA ot fmar efera oA § 2

(A) Px+%e - A

(B) | 25U+9n - ¥ Ba+ % Kr+33 n+
Folt

© “N+9n- %c+in

(D) 2H+2H - ,He+ 3l

SPACE FOR ROUGH WORK / TF &1d & forl <7
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92,

93.

94.

95.

96.

Metal extracted by Kroll's process is :
(A)
(B} Titanium-
(©)
(D)

Copper

Aluminium

Sodium

The oxidation state of chlorine in
bleaching powder is :

(A) -1

By +1

—1and +1

D) Oand +1

Which gas is used in the purification of
Nickel ?

(A) CO,

(B) C,04

(¢ CO

(D) GN,

Which of the following is not a polymer ?
(A) Fat

(B) Wool

(€©) Cotton

(D) Leather

Which combination of atoms can form a

polar covalent bond ?
(A) Hand H

(B) Nand N

(C) Na and Br

(D) Hand Br

92.

93.

94.

95.

96.

form g w1 Frswdor Saer fafy @ @ €2
(A) FTW

HA H 9 w1 wEn e & giewm o
fopen ST & 2

co,

B) C,0,

CO

D) C,N,

frefafad o 9 oF T Fges Tel 8 2
(A) =
(B) =A
(€) I
(D) ===

TRATIE T B W HASH, YET G
Y S Rl § 2
(A) HeRH
B) N3iRN
) Na 3R Br

(
(C
(D) H 3R Br

SPACE FOR ROUGH WORK / % w14 & o e
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97.

98.

99.

(
(
_—
(

Which is the correct increasing order of

electronegativity ?

(A) Cl<F<I<Br
(B) F<Cl<Br<I
(C) Br<I<F<d
(D) 1<Br<Cl<F

What is the unit of the rate of a reaction ?
A) per mol
B

~—

per second

0

) mole/second

D) molar/second

Which is not artificial fuel ?

A) Lignite

(
(B) Producer gas
(C) Water gas

(

D) Coal gas

100. The isotope used to remove brain tumor

and in treatment of cancer is :
(A) Uranium - 235

(B) Sodium - 24

(C) Iodine - 127
(D) Cobalt - 60

97.

98.

99.

100.

forera SROTIHeRAT <1 Wel Jdl %H B :

(A)y—€r<F<t<Br
(B) F<Cl<Br<lI
(C) Br<I<F<{
(D) I<Br<Cl<F

fopelt sifaferan I T T TR A E?
(A) wfa |

(B) i ¥hs

(C) ¥ wfa 9Fs

(D) ¥eR w1 qFe

T W1 T O T ?

B T THETHF ¥

SPACE FOR ROUGH WORK / T% sTd & fedl g
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(ii) Second Part : MATHEMATICS

101. The students of a class are made to stand 101.

in rows. If 3 students are extra in each
row, there would be 1 row less. If
3 students are less in each row, there
would be 2 rows more. The number of
students in the class is :

(ii) fgeftar et ¢« wifora

TF F&T & [aaiad) ol Ul § ge e el
gfe ye dfea o 3 fomned oy €W, @
1 dfe 9 Bt | Al we dfwa o 3 fammeft
&9 B, 9 2 dfwEl eifuw st e o
forenfelai ot v € :

(A) 35 (A) 35

(B) 36 (B) 36

() 40 (C) 40

(D) 38 (D) 38
102. 6tan® 0 — 62 = 102 6tan® 0 — : =

cos” 0 ) cos28

(A) 6 (A) 6

(B) -6 (B) -6

€ 0 (C) 0

D) 1 D) 1
103. If tand = .il, then cos?0 — sin20 = 103. A% tand = 2, @ cos?0 — sin20 =

, 4

A Z y

B 2 (A) 25

(B) 1 B) 1

A 7
© 25 © ~ 55
4 4
(D) 25 (D) '275'
SPACE FOR ROUGH WORK / T% &Td & fod s
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104. If AABC isright angled at Band M, N are

105.

106.

mid points of AB and BC respectively,
then 4(ANZ2+CM?) is : '

(A) 5AC?

B EAC2
® -

(C) 6AC?

(D) 4AC?

On dividing the polynomial p(x) by
—x2+x—1, quotient and remainder are
(x—2) and 3 respectively, then p(x) is :

(A) x>—3x2+3x+5
(B) —x3—3x2-3x-5
(C) —x3+3x?—3x+5
x?—3x?—3x+5
Let p: There is cloud.
q: Itis raining.

Symbolical representation of the

proposition “There is cloud, but it is not
raining” is :

(A) pv—q

(B) p=-q
© parmq
D) peq

104.

105.

10e6.

yfe AABC H £B @& § 991 M T8 N,
FHI: AB Ud BC & #ed fag ®,
4(AN2 + CM?2) BT :

(A) 5AC2

(C) 6AC2

(D) 4AC?

TG p(x) F —a2+x—1 9 M 37 I,
YT SR IR HEI: (x—2) 3R 3 F,
T p(x) ® :

23 —-3x2+3x+5
(B) —-x%-3x2-3x-5

(C) —-x*+3x>—3x+5

(D) x®-3x2-3x+5
afe p: <IGA BE B
q: ElEERGRS

o e B R, Toheg it e & @ R
1 Wichfash &g ¥ :

(A) pv~q
(B) p=-q
© pa~q

(D) pe~q

SPACE FOR ROUGH WORK / % &1d & o8 s7e
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~

107. A square field is surrounded by a path 107. Wk TR &7 2 |, 9IS U 9 = | o
2 m wide on its outside. The area of the Tl TR H YIRS 72 90 AL B A& w
path is 72 sq. m. The area of the field is: et & —

(A) 7sq. m. (A) 7t L

(B) 49 sq. m. (B) 49 = #.
(C) 81sq. m. (C) 81a .
(D) 36 sq. m. (D) 36 .

108. Theangle of elevation of the top of a tower 108. i & TH %@ g, W HHR % UK fog @
from a point on the ground, which is 20 m 1 g | T, HAR & R &1 $=a|
20 m away from the foot of the tower is F30° F | HHAR & A =
30°. The height of the tower =
(A) 1043 m (A) 1043 m

5
®) 10v3 @ 195,
3 3
€ 203m © 20/3m
o 2L, o B
3 3
109. The value of 2 tan245° + c0s230° — sin%60°, 109. 2 tan45° + c0s230° — sin260° 1 | ¥ :
is:
(A) © A) O
(B) -2 (B -2
) 1 ) 1
(D) 2 (D) 2
SPACE FOR ROUGH WORK / 7% 18 & & smig
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110. Let p and g be two mathematical

111.

112.

statements, then ~(p v q) is equivalent
to-
(A) ~pr~q
(B) ~pv~q
© ~parq

(D) pr~q

The equation of the line which makes
equal intercepts on the axes and passes
through the point (4, 5) is :

(A) 2x+3y=1
(B) 3x-y=7
G x+2y=14

(D) None of these

A vertical cone of volume V with vertex -

downwards is filled with water upto half
of its height. The volume of water is :

1
(4) gV

1
®) LV

1
© 1V
© 5V

110. AR p T q & oRda F2F 8, @ ~(p v q)

111.

112.

@W%:

(A) ~pr~q

‘(B) ~pVv~q

(© ~paq

(D) pa~q

T @1 S el ¥ gHH S Eve S

T o5 (4, 5) W TORAT T, o1 THIHT0T B

(A) 2x+3y=1
(B) 3x-y=7
(C) x+2y=14
(D) & | =% T

AT V A T Fraer o, e o
2 @t 3R ¥, H el I aw urh W R
T I T ST ©

1
(a) gV
® 5V
© v

1
D) 35V

SPACE FOR ROUGH WORK / T% &1 & ot sre
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113.

114.

115.

The areas of two similar triangles are
121 cm? and 64 cm? respectively. If the
median of the first triangle is 12.1 cm, then
the corresponding median of the other
is:
(A) 3.6 cm

(B) 25 cm

If the sides of a triangle are in the ratio
3.:4:5. Ifits perimeter is 36 cm, then the
area of the triangle is :

(A)
(B) 54sq.m.
(©)
D)

57 sq. m.

56.5 sq: m.

None of these

If the volume and the surface area of a
sphere are numerically equal, then the
numerical value of the radius of sphere

is :
(A) 4
(B) 2
© 5

None of these

113.

114.

115.

< guEy sl % SFEe wA: 121 §H2
U1 64 QE2 ¥ 1 Afs wem T w1 wfeaent
121 9 &, @ Todta s =1 |ra Afeaent
B :

(A) 3.6 §Hl
(B) 2.5 §Ht
(C) 15 &=
(D) 8.8 §+Ht

T IS A AL 3:4:5% FIGH €|
Az afmrT 36 T B, A S ® &
2

(A) 573 H.

(B) 547 .

(C) 56.5 a1 Hl.
(D) & A g T

aft T M F1 ST T IS AR
TETH € 9 aUer B, df Mo w1 e
T T 9 ¥

(D) T 9 FE T

SPACE FOR ROUGH WORK / % @& & & w78
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116.

117.

118.

(©

In triangle PQR, right-angled at Q,
PR4+QR=25 ¢cm and PQ=5 cm. The

value of tanP :

5
A 33

B 1

. A child reshapes a cone made up of clay

of height 24 cm and radius 6 cm into a
sphere. The radius (in cm) of the sphere

is :
(A) 12
(B) 3
© 6
(D) 16

Pie-chart represents the components of a

factor by :

(A)
(B) angles

percentages

sectors

(D) circles

116.

117.

118.

5199 PQR #, {591 ®I91 Q W9 |,
PR+QR=25 cm 3R PQ=5 Cm%I tanP
=T O B '

(A) 13

D) =

24 Y S W 6 A B Al it 4
YIS T W s el S 8, a1 Ml w5 e
(Tt H) grm e

(A) 12
(B) 3
(€ 6
(D) 16

-4 11 g @ve & w2 o whakfie
FAATE

(C) Ta-wve

(D) o4

SPACE FOR ROUGH WORK / % &g & ol sig
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119. The sum of the reciprocals of Mohan's

120.

©)

ages (in years) 3 years ago and 5 years

1
from now is 3 His present age is :

(A) 8 years
(B) 10 years
(C) 7 years

(D) 6 years

9
Fraction becomes 11 if 2 is added to both

the numerator and denominator. If 3 is

added to both the numerator and the

5
denominator it becomes 5 The fraction

is:

Ut w

(A)

w|u

(B)

NN RN

N[

(D)

119.

120.

3 od qd Hed wt Ag (T H) H FohH
3t 216 ¥ 5 oY 91g 217 ok k™ H AT %

¥ | ST TAHM 3T R
(A) -8 aH
(B) 10 ¥4
(C) 7o
6

D)
s fah oret 3 i S 3 F 2 g
e g, A7 - A 1 A s R

3 H 3 < e W, @ e gzﬁwﬁ%'

ERR RS
3
(Aa) 3
5
B 3
7
© 3
o) =

SPACE FOR ROUGH WORK / % @14 o ford sg
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121.

Two numbers are in the ratio 2: 3. If 5is
added to both, their ratio changes to

5:7. The greatest number is :

121.

Q1 wensl H2: 3 %1 A ¥ At g A 5
Sirg Ferann STe A SR 5 ;7 91 ST B SR

(A) 15 (A) 15
(B) 50 (B) 50
(C) 30 (C) 30
(D) 40 (D) 40
122. The value of 122, 34432+304+........... +10 &I HA
34 +32+304 .. +10 is : 2
(A) 286 (A) 286
(B) 256 (B) 256
(Q) 340 (C) 340
(D) 170 (D) 170
123. The value of 6.46 is : 123. 6.46 ‘OFTTW{% :
646 646
(&) 59 B) 5
640 640
® T ® oo
64640 64640
©) Tooo © Tooo
640 640
(D) 99 (D) 99
124. If p(x) =3x>—6x2—5x+4 and 124. 9fe  p(x)=3x°—6x2-5x+4 &I
q(x)=x3-2x2—x—1 then degree of qx)=x*-2x>—x—1 B, T TR
polynomial p(x) —3q(x) is : p(x) —3q(x) I = & :
(A) 3 (A) 3
®) 1 ®) 1
© 2 © 2
(D) 4 (D) 4
. SPACE FOR ROUGH WORK / 1% w1 % e se
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125. If tan(A+B)= 3 and tan(A-B)= —=

1
\/é-r

0°< A+B =< 90°, A > B, then:

126. Roots

A=45°, B=15°

A=30°, B=15°

A=45°, B=30°

A=60°, B=15°

of the quadratic equation

2x24+2x—4=0 are :

125. A€ tan(A+B) = NERE I tan(A—B) = —15,

NE

0°<A+B<90° A>B,dl:

(A)
(B)
©
(D)

A=45°, B=15°

A=30° B=15°

A=45° B=30°

A=60°, B=15°

126. T RO 202 4+ 2x —4=0F A €

(A) 1,2 (A) 1,2

B) -1, -2 (B) -1, -2

) -1,2 ) -1,2

D) 1, -2 (D) 1, -2

8x2 + 10x — 3 8x% + 10x — 3
127, ——g——— = 127. — =

2x° — 7x — 15 2x¢ — 7x — 15

A 4x + 1 A 4x + 1

( ) x—5 ( ) x—5

. 4x — 1 . 4x - 1

B) S5 ) —

c dx + 1 c 4x + 1

( ) x+ 5 ( ) x+5

D 4x — 1 D 4x — 1

D) 13 ) 755

SPACE FOR ROUGH WORK / 1% i & ferdl sme
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128. Binary equivalent of decimal 381 is : 128. s S 381 &1 fgememl
(A) 101100111 (A) 101100111
(B) 100000011 (B 100000011 =
(C) 110011111 (C) 110011111
(D) 101111101 (D) 101111101
129. If 2" = 256, then the value of nis : 129, I \/j2T = 256, AInFUA T :
(A) 8 (A) 8
(B) 16 (B) 16
(C) 512 (C) 512
(D) 128 (D) 128
130. Roots of the equation 130. HHHT 1 __1 - g, x#1, =5
x—1 x+5 7
xil—xi5=g,x¢1,—5are: %Tjﬁ%:
(A) 2,4 (A) 24
(B) 2 -6 (B) 2, —6
) 2,6 € 26
(D) -2, —4 (D) -2, -4
131. Statistics deals with : 131. Hiferht Heiferd 2 :
(A) qualitative information (A) TUITHS YA
(B) quantitative information (B) HEAHE §IN
(C) both (A) and (B) (C) (A) e (B) S
(D) none of (A) and (B) (D) d(A)T (B
SPACE FOR ROUGH WORK / T% %14 & ford sig
9201/UE-PT/PP-M Set - A




132.

133.

134.

The value of k for which the pair of linear
equations 2x —y =5 and 6x+ky=15 has

infinitely many solutions, is :

Which one of the following is not a

mathematical statement ?
(A) (a+b)2=a’+b?
(B) Ram is a doctor

(C) forall x, x2=0

none of these

If p and q are roots of the equation
x2—px+q=0, then :

A) p=19=0
(B) p=0 q=1
(©) p=249=1

(D) p=0,q=2

132.

133.

134.

k&1 a9 e fore Yfgs gt gy
2x—y=5 IR 6x+ky=15 % d T &,

frer A Y B 91U TR A T 7

(A) (a+b)2=a’+b?
(B) W TH SR T
(€) Tl x % T x2=0
(D) =79 9 1S

RIESY 3R q GHIRT 22— px+q=0 F T
g @ :

p=1,q=0
(B) p=0,g=1
€ p=29q=1

p=0, q=2

SPACE FOR ROUGH WORK / T &t & el site
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135. The area of the largest triangle that can 135. x 51 o @%j'i'ﬂ F I GIY o wHEA

be inscribed in a semi-circle of radius x in IS MRS RS 6l‘é“f f\ﬂH\?{ T TR THEE H
square unit is : B i .

(A) %xz (A) %xz

(B) 2x? (B) 2x2

(©) 4a? (C) 4x?

(D) x? (D) «x?

136. Which one is not an input device in a 136. ﬁmﬁﬁaﬁﬁwqmmaﬂsﬁg@f@a@q

computer ? THE?

(A) keyboard (A) =I-9E

(B) mouse (B) TTHH

(C) monitor (C) HHR

(D) USB flash drive (D) TS R R

137, Thevalueot Jua s o= T8 ¢ 197 Jans Jp o TE mm:

(A) 7 (A 7

(B 5 (B) 5

©) 6 ) 6

(D) 3 (D) 3

SPACE FOR ROUGH WORK / % &1d & &9 s
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138.

The mean age of a class is 16 years. If the
class teacher aged 40 years old is also
included, the mean age increases to

17 years. The number of students in the

138. T FE1 F 0Gd 39 16 T4 ! Ife 40 a9

39 ¥ foees =1 wifter fFa s ¥ o siea
Sy 17 9% & war ¥ e o foenfE @l
'H'@ﬂ%

class are :
(A) 23 (A) 23
(B) 30 (B) 30
< 13 € 13
Dy 17 - (D) 17
139. Historigram is suitable for : 139, e fa fe 3 fore oy 2
(A) time series data (A) 1A goft ST
(B) chronological distribution (B) RITIHH IEGRA]
(C) none of (A) and (B) (C) T(A) 3R A Bl (B)
(D) both (A) and (B) (D) (A) e (B) &I
140. The decimal equivalent of binary number ~ 140. framerd G@m 10011111 1 <UHH T4 ©
10011111 is :
Ay 79 (A) 79
(B) 69 (B) 69
(C) 59 (C) 59
(D) 89 (D) 89
141. The value of log;(0.0001) is : 141. logy,(0.0001) 1 HM @ :
(A) 4 (A) 4
1 1
® 7 ® 7
© -—4 <€ -4
1 1
O 3% M) — 3
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142.

143.

144.

With the help of histogram we can
prepare :

(A)
(B)
©

frequency polygon
frequency curve
frequency distribution
(D) all the above

In what ratio, the line made by joining
the points A (-4, —3) and B (5, 2)

intersects x-axis ?
(A) 2:3
(B) 3:2
(C) 1:4

(D) 4:

—

The angle of elevation of the top of a
building from the foot of the tower is 30°
and the angle of elevation of the top of
the tower from the foot of the building is
60° If the tower is 60 m high, the height
of the building is :

25 m
30 m
20 m

28 m

142.

143.

144.

3T T 1 weraar 9 AR fRar S g

g

(%)
(B)
(©)

AT I3H
sgfa feawor
(D) SR |t

forgeii A(~4, —3) 9 B (5, 2) A foem
aredl e R s W -t i ghrede
AT T ?

[y

(D) 4

Tk HIMR % U1 55 9@ w e & foree
ST HIU30° 7 ST W % arg fiig @ tem
& e &1 3 w00 ¥ At 9eR
60 m =t B, A v wm ForE et

25 m
30 m
20 m

(D) 28m
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145. The locus of the points equidistant from 145, fagedi (-1, - 1) o (4, 2) ¥ WAA =
the points (—1, —1) and (4, 2) is : feorg fargell o1 forgua & :
(A) 5x—-3y—9=0 (A) 5x—-3y—-9=0
(B) Bx—3y+9=0 (B) 5x—3y+9=0
(C) 5x+3y—-9=0 (C) 5x+3y—9=0
(D) 5x+3y+9=0 (D) 5x+3y+9=0
146. In a bag, there are notes of 20,10 and 146. T I HZ20,T10 RIS H AL 4 5%
% 5 in the ratio of 3 : 4 : 5. If there is total s H £1 At 97 H FAT 1000 €, W5
Z 1000 in the bag, then the number of F A H HBNR '
notes of I 5 is :
(A) 40 (A) 40
(B) 24 (B) 24
(C) 25 (C) 25
(D) 32 (D) 32
147. A frequency polygon is constructed by 147 ot sfacel H et U R RO STt
plotting frequency of the class interval and EiMGEL fmtor feman ST @
the following :
(A) upper limit of the class interval (A) = e 1 HAL HH
(B) lower limit of the class interval (B) it sfauer i e Em
(C) mid value of the class interval (C) it SiaUe Sl HEA A
(D) any value of the class interval (D) o et i e |l AH
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148..

149,

150.

The letters of the word “SOCIETY” are
placed in a row. What is the probability
that three vowels come together ?

2
(Aa) 7
3
B =
1
© =
© >

Which one of the following is an
Operating System ?

(A) Mac

(B) Unix

C) Ubuntu

(D) Al of these

Ve

5+ 23
If ==LV
7+ 43

(A) a=-11,b=-6
(B) a=-11,b=6
(C) a=6, b=11
(D) a=11, b=—6

=a+ by3, then:

~—

-00o0-

. 148.

149.

150. 3Ifg

g “SOCIETY” % 18T &l U% dfem |
TGS T | T S F T Wy S w

—~—~
us]
S

N N N NN

et & § i 1 o srfef fiw £

-000-
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TR TR Y T HEH : 3 HE j( stfraRan 3tk : 150
Time for marking answers : 3 Hours _ Maximum Marks : 150

e ,
1. 29 WeR-UReeRt § §F W :
@)  wer | e

( 31) Hifaes I - 50 3k
(o) W@EA & - 50 3®
(i) T v ; for N EED

T T 1 30 1 %1 Wl T B H Sed )
2. wﬁ%w,ans‘OMRw—arﬁz(WQﬁz)maimaﬂﬁm
HUTE Yedioh Tl [ohal S |
4, Wﬁrm%%ﬂﬁamﬁmm@ﬁwwaﬁrwﬂaﬁh%l

5. OMRW—W(W@E)WWWW@%@% A 7w/ Y 9E W W A
sﬁtﬁgmwaﬂ&%aﬁﬁrﬁwa@wéml

[OM]

Note :
1. This Question Paper consists of Two Parts namely :

(i) First Part : SCIENCE

(a) Physics - 50 Marks
(b) Chemistry - 50 Marks
(i) Second Part : MATHEMATICS - 50 Marks

Each question carries 1 mark. All questions are compulsory.
2. Indicate your answers on the OMR Answer-Sheet provided.
3 No negative marking will be done.
4. Use of any type of calculator or log table and mobile phone is prohibited.
5

While using OMR Answer-Sheet care should be taken so that the OMR Answer-Sheet does
not get torn or spoiled due to folds and wrinkles.
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